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2.3.1 (—)KERH (BERE- 3m/min)

o FE(1)-200M8 (F7IEZERNK) o FHE2)-422Mf (FEZEK+FERIERHREKIOO+FK122)
- BEERE3IM/min - KF2-9cm SH200MEK - BEERE3IM/mMin—4-198 9 KF SH422M8K
SHE B 0. SmS K E HESE0 SMBKE
S0cm S0cm
*B  200m*/H i1 X8 Q=422m¥/B il
SRR BAXE - - SRR BEAKE a
( ) o R+t (BEAKE+3K) . o
Ft=2E(m3/sec) 0.0023 FteE(m3/sec) 0.0048
E&E(m) 20 0.5 E&E(m) 2.0 0.5
KEM)  0.023 0.093 7KFE(m) 0.048 0.195

« FZE(3)-600WE (FrEZEEK200+ERIRREKLIO0+EEHAIE A [EF300)
o BEERFE3IM/min - KiFE6-27cm

& H 6007 E R 2m IRk £ H 6000 K- AE R E0.5m K F
7}(% Q 600m3/E 200cm ‘ ?I“_"F
RER (BE B 7K 2 +BIRE 7 300m3) U w—
=|: 6.9cm = = T 2/8um
ftE(m3/sec) 0.0069
R&E(m) 2.0 0.5
ZK3E(m) 0.069 0.278
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2.1.3 (D)MES T (KER600H)

« FED-BEKFHAEE - R EEER(10-15m)
« REOLSME - KF ﬁloj\ﬁﬂ-.r - itER8.33 (m/min)

K= 600m3/H
RER (BE A K E+EER MO 300m?3)
e (m3/sec) 0.0069
£&E(m) 2.0 0.5 20 05
7KEF(m) 0.1 0.1 0.15 0.15
FaR(m/min) 2.08 8.33 1.39 5.56

« FEQ)-EEMRREEE - FEZEE(1OM/min - 15m/min)
« REOL5ME - WER10 (Mm/min) - KFEEHES8.3cm

KE 600m3/H
RERT (BEAKE+1EIREf 300m3)
= (m3/sec) 0.0069
E&(m) 20 0.5 20 0.5
FtiR(m/min) 10 10 15 15
ZK#(m) 0.021 0.083 0.014 0.056
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S H4220#k

S H422ME7k
AR EE2m KT AE S E0.SmIFKE
200cm H0em
Il
K Q=422m¥/B - Wy | | -
RERT (BEBKZE+PK) —+ 48cm = 195cm
rE(mi/sec) 0.0048
EE(m) 20 0.5
7K (m) 0.048 0.195
- 3
K (EE%;J(GQT;%{EE'@;# KE 600m3/B K 600m3/E
RER ﬁ)ms)ﬁ o SRRt (BEAKS+ERER300m?)  EERY (BEAKE+ERREF300m3)
u;% 0.0069 fE(m3/sec) 0.0069 eE(m3/sec) 0.0069
(m3/sec)
E&E(m) 20 0.5 20 0.5 E&E(m) 2.0 0.5 20 0.5
EE(m) 2.0 0.5 s _ —
FRAE(mM/min) 10 10 15 15 7KZE(m) 0.1 01 015 0.15
7K (m) 0.069 0.278

KFEMmM) 0021 0083 0014 0056  FiE(m/min) 208 833 139 556
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